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Find the equivalent impedance of
7.5mH this network if ©=4000.
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The transformer is to be inserted be-
tween the source and the load with a
turns ratio that makes the load im-
pedance appear to be the same as
the source impedance. Find the value
of “a” necessary to make this happen.
Assume that the voltages are plus at
the top and the currents are
clockwise.
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4. (15 points) e
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A circuit element has voltage across it and current through it that are described by:
w(t) = 50cos(377t +38°)
and
i() =10sin(377¢ + 75°)

NOTE THE SINE FUNCTION!
Find the real power associated with that circuit element.
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